W H A 2014/5/25 e
R L I T TN i o i
B4 HiE TR L ik S ean AKIt R
MRS [ =R R bt 4 =T R s
H £+ EH 14z 20 3L Afr LYITA 6{if L 8fiL
WER BRE 812 2N|EXR KRB 8.15 (+0.5)|*FIEE K% 8.18(-08)|EF FHR 822 (2.4 |l BN 826 (-08)|£H @IE 8.32 (-1.2) BA £k  833(27
5A250] 50m w57 SR[E1EELY SR[£JIIAC SR|2EELY SR|GEE VST SRITTR SR s Lo SR
4EF A WA EF 832 (+0.5)
E2EELY SR
sA258| 1000m BilE @#@X 3:28.29|mi)Il EEA 3:38.62|ILAK EX 3:45.23|H1E [5 3:47.96|fEE B 348193 A fiE 3:50.98| B 28 5L 35220|F @ Bk 35633
EEOST BEO ST ZJI|AC BEO ST BEO ST EEELy EEELy EEELy
sHosH| ik —& HKX  343H10|MTA B 329 (+0.3)| B T5E] 329 (-0.9)(EEM B4 327 -09)|FE Tk  3.19(-0.1)
T |eE s 2)|AC SR|Z4BR L2 #iEE LY HERELS
shosa| loom |B BWE 1442COMET BEE 1451 CODMHIR fth 1461 GOO)|FH BA 1475 G09)|{EH LI 1491 GOO)\FAL B 1503 COO)FHE R 1507 O9) A HA 1500 (+0.9)
SAE 5 7- EiEELY SR|EFRELY SR|ZJI|AC SR|ZJI|AC SR|JACHDH SR|Z21EkELY SR|#FimilE L& = SR[ZJI|AC SR
sA258| 1000m % En 3:27.50| LA &t 3:32.90|/NAJII #HErR 3:38.21 (B84t mEIH 344 67| &4 34975854k F 35022| kF ZJ= 35031|3H1% B 35475
2Ly BEO ST TTR BiEELY 2ELy MKFRS JACHDH EEELy
L. |FE &t 1.10
5H25H| Embk :
U w50
oo |- BN SRR 3.65 (+0.1)[#EF S 351 (-05)|F&F/I sk 3.38 (-0.1)[ERA mk#k  3.36 (-0.1)
5H25H | EfEBk
2Ly BERELY BERELY BERELY
5258 100m INIG B 1336 (C1.0|F3H BFE 1383 (CLO|FHE WE 1370 C1D[FE @b 1392 -1)|EK B 1394 C1n[FEE #E 1403 (-1)|lLA &£ 1407 (1.)|&2 BR 1433 (-1.1)
Ei5kELY SR|EHFRELY SR|ZJI|AC SR|ZJI|AC SR|ZJI|AC SR|Z24EELY SR|#ibE F &= SR|MKFRS SR
5258 1000m WE E=H 3:10.91|#iE @3 3:1431|BkK @A 3:16.08|i2H# #5H 3:1653|hE K& 32411|FHE BH 3:27.21| K4 *% 3:27.87|/K A #B= 3:31.11
EEOST Z)1|AC 2EkELY HrimifE F %= 2iEELY HIRREELEY TTR A ST
5H 25 80mH |&B E&x 16.44
-1.5 |(AERELY SR
Ei8ELIA 53.85|2JI11AC 54.49|AFEEET— 56.09| 245k LB 57.36|5EERV ST 57.57|TTR 57.90|245kELYC 1:02.34|ARELE— 1:02.87
64T ¥ BA hE $TiE A3 KAl #His e KE TH 8 mEA VEr S TE i
5H25H |4x100mR (#1348 R R mA R sk B B TN BE INRI #EwR WA Fngk FH BH
INE B S 2Rt K BX AR EE BE B3 XAk FHE EBA B BE
g Kt JiE B Ei5 BF FaIER RERE WIE EH WH fEE B Bt &% HIT
L ok A IE et by
54250 | EEpk WA = 1.30|FFH A 1.30|{&E#E FFE 1.25/NEE ZB4R 1.25
#)||AC SR|&2#8E LY SR|BARELY SR|E#EELY SR
sHo5H | ElEk WA gk 426 +1.2)|AH A 403 (-0.2)| % #EFE 399 (+0.3)[FEA HE  3.98 (+0.6)|&/R 1Bt 388 (-05)|HE R 368 (0.0)|15% H5th  3.68 (+0.3)
A SR|#imibE F %= SR|EERYST SR|2JIIAC S L) iEpE by B
EA W 822 (-03)|ETH & E 825 (-05)|FW FHE 836 (+0.2)|RHE KM 837 (-1.0)[ittH YD  838(-05)|KiZm ZF#E 839 (-03)|ILEH %A 8.45 (+05):I& =15 8.52(-0.3)
5H250| 50m HEREELY SR|Z#EkE LY SR|Z#EkE LY SR|E48E LY SR|E48E LY SR|Z#5kE LY SR|Z#5kE LY SR[EERELY SR
AR F iﬁ; F& 852 (+0é2Fz
sa250!| 1000m T B 3:41341ES BHAE 3:50.48;%:0 E&F 3:54.16|[RfE = 3:58.36 [k EiE 3:59.43|F A 4:0043| B E£RA 4:03.68|mm 1=C 4:09.39
HIRkEEES 2J||AC HIRkELES BiEELy eBkELy 2)1|AC #)1|AC HERELY
sA258| 100m BH BE 1480 -08)&EJI FF 1513 (-08)|=4E 41 1517 (-08)|RE #£F 1528 (-0.8)|/ME #1535 (-08)|IUTFT FE#E 1536 (-0.8)[iHK Ed 1548 (-0.8)|KiE EHF 1557 (-0.8)
EEELY SR|2#EELY SR|2#EELY SR|TTR SR|ZJI|AC SR|ZJI|AC SR|#FEkE L& = SR| 2B LY SR
5A250 | 1000m |1 BR 3:3002|#148 Fik 34320\l 3:44.60(HIR #C& 3:45.42(#E KA 3:52.24| KIE bk 3:56.92
#)||AC “)1|AC “)1AC BiEELy eBkELy 2)1|AC
5A25H| 80mH i)?ig Sy 16.47 (-2.2)|/NE % ‘ 17.74 (-2.2)| KiE iikE', 19.35 (-2.2)
S 4 T #J1|AC SRI’EERV ST EEOSD
B SPE 115
L | EEELS SR
5425 Bk | S - m - - - = — =
el ) R 115
EEOST SR
o |# BBE 350 (-02)|/hE 2 3.49 (H1.3)|FR &5 3.42 (0.0)
5H25H| ElEBk .
|l mEELEs SRT|&#8557 mEkE Y




A - e 2014/5/25 R
B4 HF15EH =N RV — B RS
B4 s R FoEk AR KI
EMEMAL | =k B e a2 4 = R e
HfF fEH 12 251 3fir AfT YivA 6{if THE 8fir
55| 1oom [FTE BT 1413 COBIEE BT 1455 (08| HOX 1460 COBMII BTy 1471 COB|AUE FR  1472C08)HE WA 1506 COB)HE B 15.13 (-0.8)
Z1EELD SR|21E&ELY SR|21&lELY SR|24&lELY SR|HREELY SR|Friike L= SR|Z+EkE £ SR
sH258 | 1000m ngE "HE 3:11.25/ME)II TERY FLT7|NE Ek 3:1352|£H #F 3:28.29| K15 WX 3:35.53|# K HELE 3:36.59|85K EBFF 3:4654|BF TETH 3:49.92
HEEYST TTR TTR BiERELY 2JIlAC EiEELY ZJIlAC ZJIlAC
55250 | somm INAR #1532 (37| KB HE 1607 (3D|AA EE 1614 (30| BkF 1712 (-3.7)|[EF BAEF 17.38 (-3.7)
JACHDH SR|2JI[AC SR|HEELY SR|=#15kE LS BiElELY
EiEELIA 55.81| =15k LB 58.60|ERELT— 59.50| =15k £ 4C 1:00.195EERVS T A 1:00.47|2JI|AC 1:03.43|AFRREELE— 1:03.53(5EA&2S5TB 1:07.11
6421 Il &7y Bl B%x B8 EK flll #F HRE M RIE bk B B3R BN 236
5H25H |4x100mR|$E EF B B A EM R EBRE MR FYZ INE B mE RE INER BTy
£H #%F & EF e X R /E WA 3 A Ed I BEE A %2
hfE D% BT =T BiE Bx L 225 g = AiE BE A DED LW GhE
oy |IAT REE 1.30|1#1L 2S5 1.25/R H=|=E 1.20| Bl B3 1.15
5H25H| Embk syms | srlezimpE Lo SRl 4 SR|z#ERE 4 SR
o |BB ER 359 (+02)[#AK #3358 (-02)|FEF RE 340 (+1.2)
R e T SR|ERRYST SR|EERE LY
ZiERELIA 1:01.25|ARELT— 1:02.25| 245k £ 4~C 1:02.51[£JI|AC 1:03.055F &S TA 1:03.06 | 245k LB 1:03.43|HERELE— 1:05.04|EERELEL— 1:06.72
FlL B e =g B YD RE BFE NHE %% Kip E Heh B% ED E&F
MERA|5A 25 A [4x100mR|BTE 1HE =R BE HFCOF % s =iE A ILWE %A ER E=R kIR M=
#aE K3 FO B T8 1&& e 8 Ml B N R A $E M EM
BX ®E =A B E FAR PR A WRE BRE A EFE %k FIF #E KK
EiEELEIA 58.68| =15k LB 58.70|BRELT— 59.51| =245k E£4C 1:01.15EAER VST A 1:01.29|2JI|ACB 1:01.38|E/RREELE — 1:02.71|#E#&9>78B 1:20.89
B FE =¥8 A0 H®EmX 5 RE Ml &E INE ER FE 35 A& ZFEE
SAFIRR A5 25 H | 4x100mR| &3 B B SOE R &0 AR ME #wmR g5 T HiE W s TE A%
#+¥ BT =it I FI B AR BEX AR i INE X—BA R & A P
% B EH BEER I BE HH g MR 1EE g R4E hF A HH #t

SR @ 44E BX S HETE Gk
SRT : 44E BN Ek o A
SR : 4IRS I AEGE 5
SRT : S4B N G gk o A
SR : 64F I 2 I HEGE G5
SRT : 64 RSN AE GG A




oy /R R 2R 250 R g (B k)

WA 201445251 U HE A
Pl Ak LR 23 i SB[ =V EED L — RS 14220114 FLER AT KI R
AR R4 S =3 g e W% g e LS 223030 FLERE
ma o |n | | e | meea e | BRIRE e [ mes oo | BEERE | g | B s cem | BEEEE g | mmences | TEIRE D s
ﬁw\% g L (L S 8.12[ 2 [HiA #A(O00) | )y 8.33| 3 |TH MK (00 |y ).y 8.36( 4 \Shll E(05) |y acug 8.52
25 5 [ AR (04) I ACH T4 9.19] 6 |7 Ak (04) SR -4 9.30| 7 |fEH £ (04) SRS -4 9.39
ETM# o | o L VP KB O |26y 818 2 [T/l BN (04) o) 5y 8.26| 3 | B3 (04) o o 9.01f 4 [ MUUR(0D) |y s .4 9.29
25 R (R P 9.61( 6 |IKEF KA (05) |5 g 10.07) 7 [A% JEZR05) |y ace3 10.17
ﬁw\% N U @50d) | Ly 8.32| 2 |FIJF WRBLO00) |uopore [y, | 861 3 |SFE BAHOD e, S KL= (O P— 8.90
Ve | 2 b |fei FO05) |weae)5r.g 8.92[ 6 |mtk —BEOD |y .y 9.21( 7 |#BEE WER(05) gy ncug 9.46
o0m 5]l s o LT RO ey 8.34) 2 [ W00 | e )y 8.39| 3 R BEAOD | o, 8.50( 4 WTE HEZ(05) |y acen 8.61
25 b |TaHE BE(05) |uopire g, y| B-68] 6 \BA BELOD) | pers ), 9.41
Ew\% o | vos LA RO epe )y 8.15( 2 [IIA V(04 |y 15y 8.32( 3 | Bk RAEOD) | e )y 8.37[ 4 B R0 o) 5y 8.49
25 5 Mt S (0) | yimpe 1.y 8.49) 6 | Bl ZK(04) e ).y 9.22[ T |RA —H(0D |00y 9.29
Ew\% .y LB R0 epe )y 8.22( 2 |WA TRBE(04) | g 1y 8.78| 3 | B (04) | e .y 8.80( 4 [P HEAX(0D) |y rers 15y 8.96
25 5 |liA B (04) 1A -4 9.36] 6 |&4 1EE(04) MKFRS -4 9.39 T BRI (04) S [ -4 DNF
25| L\l RO e ) 5y | 3:28:20) 2T BRIT(04) e r, | 3:38.62[ 3 IR FER(04) {200y 3:45.23) 4 | TR B5(04) o o, | 3:47.96
wEnz |2 s | 1 5 FHE FWI(05) |ene)op.q | 3:48.19] 6 [ AUR(O0D) |y prpe )., | 3:50.98) T | K B0 | prpe )., | 3:52.29] 8 |FH HHOD e ., | 3:56.33
1000m 25 O |FE M5 (05) | oo po | 356.78] 10|80 ICO |wyuepe ), | 40LIT| LL|TKEF BEWOD) | oppe sy | 41LAT[ B BRI OD | e )y DNF
25 IR FEROD) | gy DNF
sEgT |2 s | 1| +0.9 LI BMEO3) e s 14.42] 2 |BRIL HEEE(03) | s |5 14.51) 3 PHIZE AEHL(03) 0 o5 14.61] 4 |74 B O03) g5 14.75
100m 1 5 5 [{F SLWR0) ||\ s | 1491[ 6 [HA HIROD) |wigpe s | 15.03) T BIE BIE03) | s | 15.07] 8 B RH03) |y 15.09
. E ) 1|5 %%(03) s [y | 52700[ 2 A %“&(03) st 5.y | 0:32:90] 3 /J\rim HER (03) | v s 3:38.21( 4 | AT BRHR(03) | iepe .5 | 3:44.67
L1000m | 25| PeBE | 1 5 AR a4 (03) s .5 | 54975) 6 [BA TET(03) |\ ppg.s 3:50.22( T AT B3 |1\ p zs | 350.31] 8 |4 A0 gy .5 | 35475
25 9 g &K (03) AL |25 3:56.87




oy /R R 2R 250 R g (B k)

WA 201445251 U HE A
Pl Ak LR 23 i SB[ =V EED L — RS 14220114 FLER AT KI R
AR R4 S =3 g e it g e LS 223030 FLERE
L2 N I = HRE R A = [ i HBIE I, = W T . HRE R A = T = HH R R4 g
i H A sy A EGE o W4 (E4E) T - A ALER o B A (E5E) - S EIeN o Bt (E4R) - S EixoN i R4 (LE4E) - AL
25 e U /BT W (03) |y perpte |y | 14:56] 2 |Z00 JR(03)  |umpepss |y | 15.30[ 3 [T S22E(03) |y a5 15.40[ 4 [ 81(03) | ) 0.5 15.92
I— +1. TN =N I [ =N =N
25 b |4 AAC(03) |wy e y.5 | 15.93] 6 |BFH MBI (03) gy ) 5 o | 15.94 T | LI AERBIO) |y e | 1717
25 2 | vos 1|5 520k (03) s .5 | 1447 2 RIS AEH(03) [ s 14.51| 3 | bk BRI (03) |y pmpre |5 | 15-17 4 \WIN H885(03) | )5, | 15.18
S + . ] 1
25 b |#A TEK(03) |y impss |5 | 15-60 6 |IIA BHL(03) | )5, o | 16.16[ 7 /K R (03) | erong s 16.25
5@%%&%&% 3 | +0s L7t R (03) |y ac .5 15.09) 2 |JFA H#H(03) |15 g 7.5 | 15:29] 3 BRI K(03) |y oy | 16.70[ 4 | AT HEA(03) | e 5 | 15.81
100m 95 5 %K MEE(03) | s .5 | 16:18] 6| FIE BLO03) |y o o] 1708
25 i lvo L A2 R (03) | s 1.5 | 15.00[ 2 T HEH(03) | gy )25 15.06| 3 | PNk EH(03) | g .5 | 15-43[ 4 [HITR ZL(03) | ) oy 7, .5 | 16.06
 E— + . [} A -
25 b |#EE M (03) |wyiapss .5 | 16:28] 6 \BIL M54 (03) | s 1y | 16.87| 7 | BV GEBAE(03) | gy s 1.5 | 16.87
25 ol 1s U EFE KR (03) |1 p cgpynzaes | 1498[ 2 |HTHL NG (03) ey | sy | 15.08| 3 | ¥ FIBE(03) |y mpse |5 | 15-32) 4 | HH1(03) | s .5 | 1548
25 5 kfea HE(03) #1AC-5 15.97( 6 | 1T FER(03) | gy ey |5 | 1718
67 | 25 .- LG BECO2) e | g 13.36[ 2 |%55 H1(02) |\ 1. 13.53( 3 |TRWE AU (02) |y )y 0 13.70] 4 [HHE SR (02) gy i1 13.92
[ e 1 11 oo il PAE DT A =N =
100m 1 55 5 6K 40D | aces 13.94) 6 FH B280002) |y ) | 1403) T (R SE002) | ] 1407] 8 I BR02) | ool o 14.33
25 B SR (02) |5 | 3010911 2 B I 02) |y aceg 3:14.31( 3 1R BEA(02) |ypeps . | 3:16-08[ 4 |HIF fif £ (03) ke || S+16:93
6££j 25| He | 1 5| KITO2) |wepe g | 32411 6 |5FH BRE(02) | e ) o | 32721 T IRPT OEQ02) g o 3:27.87) 8 \H #IEO02) | oy o | 33111
25 9 | & ABEE(02) e g | 500-95[ 10 /INiiE B2 (02) g e | 59812 Yrm - Fnsz(02) B11AC-6 DNF
oz rsont| 25| Pl | 1| -L5| LI BER(02) e g 16.44
7T = B . A B D‘ . =NEeS N . _ 3
25| | vos L | A (02) e 13.58] 2|7 BEL(02) | 5 14.46[ 3 | AR Bk (02) | e | 14.63 4 | FB402)  |oene ) o 14.94
25 5 |G A (02) |y e |y 15.76] 6 | AT BEA(02) |\ ). 16.82
25 LR 22002) yrpere s g|  13:80] 2 |80 BEH(02) |y acip 13.83( 3 | AW Pk (02) |y pepe ). 13.99] 4 @ BR©02) |\ rng.g 14.18
= 2|05 - = =R
25| 5 |FFH ZHWO02) | .6 15.50[ 6 1L B7H (02) |y pepe 1.6 1.0 PEE B02) ) ac.g DNF
g 7 | 25 - R e 13.45( 2 |BTEE B (02) |y e 1.6 14.64] 3 Sl BEEO2) )0 0L 14.77) 4 |08 WA 02) | Liplg 14.80
[ 3 3 -1.6 e il AR EERI G =N
100m = ;
25| 5 |KIT B 02) | g 15.36| 6 |PTH FIEL(02) |y 206 15.43] 7 WA BER(02) |y |y 17.04
25 L BE S8402) | jjacg 13.90f 2 \BUR SEHE(02) oo ) =0 6 14.75) 3 (A RO | e . 1477 4 BT BR002) s | 15.03
L 4 -0.1 =N UTN DA =Rl PAE
125 5 N BHE02) | g 16.71] 6 |HITF SER(02) |y 1.6 16.81
E o | —Le 1|55 £ (02) B [/ -6 13.64| 2 |[HEA 1f# (02) BLIGLE -6 14.19] 3 |hnfgE KA (02) HLERE 16 14.30( 4 |[faH: 182£(02) TTR-6 14.69
25 5 & K#E((02) BELE |6 15.30[ 6 [T FET(02) |y e ). 15.32[ 7 [WTH BERAE02) [y oL 15.45




oy /R R 2R 250 R g (B k)

’%E _ 2014451251 R ZH A
Betha  R=IRE ERif e 23 B4 S5 15 IE =N — R RS 14220114 SOk AKIE FE
e RA = e R s W% EAE ke LR 223030 FLERE
ma o |n | | e | meea e | BRIRE e [ mes oo | BEERE | g | B s cem | BEEEE g | mmences | TEIRE D s
ﬁw\% N vos LI RO e |0y 8.45) 2 | B0 e ).y 8.93( 3 [EHT TR0 |0y 8.99] 4 |fohs Hx £ (04) ﬁﬁwi;zl 9.27
25 5 | 122 (00) | e sy 9.53[ 6 | KA | pp g 9.53
ﬁw{% 2| o LT DR OD e |y 8.25( 2 [#UH VD (04) |y .y 8.38| 3 |HH AW |\ o rrg.a .71, 4 | W2 JEE (04 | g 1y 8.72
25 b |REAR FEHE(05) | ac.g 9.02) 6 |11 B3R (04) |y 10.36
ET?}{‘% N L |\E SRR (00 5y 8.58| 2 | 1B HIXAR(O0D) |2y 8.67| 3 |4 KML(04) HEE -4 8.82[ 4 |4 TRIRMOD) |y ) 0 ig 8.91
25 5 NI BFOD) |5,y 9.27( 6 [JIHE RO | .y 9.33 7 [FH BEROD |y . 9.34
4?;5?2 ETY}\}% i | o 1| #2232 (04) B [ -4 8.36| 2 |&A Tah(04) | L.y 8.52| 3 |& o (04) B 14 8.64| 4 | L 1E3E(04) H1AC-4 8.66
25 5 |ER KO | e ey 8.75( 6 |FFAT HEAE(0D)  |oeme )5y 8.89 7 & FH (04) LR [ -4 8.97
ET/)\}% | ou LR 04 | e 1y 8.67( 2 BT R0 |1 g 8.68[ 3 |71 KA (04 | e .y 8.75[ 4 /M FAEF(04) | e 1)y 8.92
25 5 A A3z (04 R |4 9.04f 6 | 1A ZHI(O04) | pp .y 10.10
] sl 6 | o [T HEOY gy | 822 2 KB FROD gy, | 89 8 WE KOO ey, | 854 TH BROD lmgy,. | 860
25 5 A &R (04) TACH T4 891 6 )k 2&4<(04) |\ o npay 9.26
ET/)\}% | 1o L \BRE G (04) | gy s 1.0y 8.37( 2 | DR HEAHIAR (O |y e 1)y 8.70 3 13 MH (0 |y pcy 8.82( 4 |Ftf FEA (04 |om ) 5 8.87
25 5 [ 022(04) TACH w4 8.88[ 6 |k kA (04) |\ o mpgy 8.89
. |25] o 1 ﬂ’? i (04) R Lyeq | 5AT-34) 2 |1ERF AR O04) |y 12 Ceg 3:50.48( 3 |EL JEA (04) R Lyeq | 50416] 4 |l B0 wpmre g,y | 358:36
1000m | 25| PeBE | 1 5 | 3 (04) s e | 50943[ 6 | FFEOD i jacey 4:00.43) 7 |KE M (05) |y o0g 4:03.68| 8 | 122 (04) R L4 | 409-39
25 9 |FmE =304 s [y | 1387[10 KH WLEOD |20y 4:20.47
T zz s | 1] 08 ; j’: iizz fﬁﬂﬂm 1‘5*:(; z fi’ ;ZZ; B 15 12'13 3 ﬁf %?‘”“(03) e e I iﬁﬂ fﬂf 0 Jrrr-s 15.28
BJ1AC+5 . # B1AC+5 B6[ 7 TR RIRO3) anppe e 5| 15:48] 8 2 FA(03) BAGLE 125 15.57
51450%;1 |25] o | 1 1 i{% RRO3) | jiace5 3:30.02f 2 \BHE BEEX(03) [y 0. 3:43.20( 3 |[[UF 2##(03) B1|AC-5 3:44.60| 4 |[WIR Ao (03) sl ey | 540442
25 5 |1 AR#p(03) g .5 | 392:24] 6 KU DHO03) |y aces 3:56.92( |faA LHE(03) |\ ppgls DNF
st somt| 25 | RS | 1| -2.2] 1 | B FERL(03) #1AC5 16.47( 2 |/ #(03) WE 5T 5 17.74] 3 |KEE ZRE(03) HEL 5T -5 19.35




oy /R R 2R 250 R g (B k)

WA 201445251 U HE A
Pl Ak LR 23 i SB[ =V EED L — RS 14220114 FLER AT KI R
AR R4 S =3 g e it g e LS 223030 FLERE
L2 i | B sepy s HBEHT A, g [E] e i HBIE I, = W[ ey s HRHHT A, = R i HBIE I, g
i H A sy A EGE o W4 (E4E) T - A ALER o B A (E5E) - S EIeN o Bt (E4R) - S EMEES i R4 (LE4E) - AL
A R . A . % : & it .
25| | os LA BE03) | 505 15.72[ 2 |IAFT Fi% (03) | perpe 1.5 16.07[ 3 |BYR HRWL(03) |1\ p 75 16.13] 4 [y FRE(03) |y | )5 16.51
N B AR 7 A .
25| 5 /MK BR(03) | e 1.5 16.54[ 6 |84 AM(03) | )5 1721 [RPT FRE(03) | ) o s DNF
R K. 2 [ 3
25| 2 | o LBl 0 (03) | gy e 5 B.11f 2 |84 REE03) | ring.s 15.52] 3 M WRO03) | e |y 15.65] 4 |1/ AIR(03) |5 16.47
25 5 |RIE WKO03) ) 0c.5 16.80] |l BAC(03) | 5.5 DNF
> 7 e EE e e
st |2 I 1 i)l % (03) SLAELE L5 14.95[ 2 |£T7 BOR(03) |y 1.5 15.79] 3 /M RKIR(03) |y ac 05 15.82[ 4 B S003) | .5 16.07
100m 95 5[ B 03) |4 e | 16.60] 6 [T AH03) | o 1686 7 |BIIE 161 (03) |y (.5 | 1692
L M= * ° =[] =8 *
e Ny/o N wly i Gt o 44—7«‘ .
25| neE U|f3E B07%(03) |y iepe .5 14.56] 2 |/ IR(03) |y 55 1517 3 'RH #E03) | g5 15.19[ 4 ILF 3FHE(03) gy 05 15.33
25 5 |l B (03) R T 5 16.16( 6 |#aA LiE(03) |\ ripg.s 16.27
NESY Fi et == N N
25 | vos LK BURO03) | yrpones e 5| 15:36[ 2 | W (03) | wyiere |y 15411 3 |44 FIE(03) | e (.5 1557 4 [ FHE(03) | wyiere | ). 15.94
25 5 | KEO3) g 1.5 16.25] 6 | RS HEH(03) | )55 16.36( 7 |l AR (03) |y .5 16.78
7 J| N "&‘E
ol 7 | 20 s | 1| o8 LB F7(02) [ pepe . 14.13[ 2 |ZEE BET(02) |y pmpe 1.6 14.55( 3 |7 720K (02) | wyimre 1. 14.69[ 4 1PN #875(02) | gy pepes |6 14.71
100m ’ PNEY 5 A 3 = S
25 5 |l AR | .6 14.72] 6 |l BEA (02) |uoprre | sy, |  15:06] 7 [ W (02) |y iepe | ) 15.13 1ML AEH (02) | pepe | ). DNF
e 25| LM TyBe(02) |y oy | 3:1L2B[ 2 |/ FERO2) | o BALTT) 3 Ik FE(02) | L 3:13.52) 4 | B BET(02) e ). | 3:28:29
64E LT . o , " - , : . ,
1000m | 2] Tl | 1 5 | K85 IR 02) |y nce6 3:35.53| 6 S04 FRITR(02) |y 1), | 3:36.59] 7 |80 1EIFE (02) #)1AC-6 3:46.54( 8 |FIJF AEJ3(02) |y )0 3:49.92
25 O | PR BEE(02) | e |y | 3:52.40] 10| K BEWO2) | aceg 4:04.03
N % JaT /N E == .| .
6t st |20 s | 1| o LR #75(02) 1) oo g 15.32( 2 | K& HE02) | a6 16.07[ 3 [l e R (02) | e . 16.14[ 4 [ BET(02) gy pepes |y 17.12
80mH 1 55 5B EAEOD e e | 1738
< i y 3 > =) —+= Sy .
|25] N ow LR B (02) | yrpere s g | 14:87| 2 [HWRL F0R(02) | ) o 15.49( 3 | K5 R (02) |y )i ncep 15.72 4 |5 AR (02) |oene ) 5 15.81
25 5 | AH02) |y e |y 15.98] | BRI BE02) |imre (.6 DNF
37 . . > 5 e AR e
25| o | o LATE BT 02) |y |y 13.90] 2 |EH BET(02) |y 1.6 14.29] 3 AT AFR(02) | e 16 14.63] 4 |78 MO0 wiere g 15.56
6L 7 E S 5 B BT (02) B1AC+6 16.42 EH HFI(02) R 176 DNF
100m = Yz S 3 ooy 7 e
E N 1Pl #8795 (02) ELERE -6 14.44( 2 |4 fE¥ (02) BLIGLE -6 14.70] 3 | 1 (02) SRR 16 15.03 4 |HERT 3EA(02) UL L6 15.68
25 5 |/MER BI1(02) e 55 6 16.76[  [ILH HEAL(02) gy )0 DNF
. - k o73 = N 1 7%__? b )
25| oo L | 0% (02) |y |y 14.31] 2 /R 90(02) g 1016 15.22] 3 |INiE 5% (02) R 5T -6 15.26] 4 |84 FRRIRO02) |y e | 15.35
25 b |BA REF(02) |\ kERS -6 15.43| 6 [FaA OR002) | e |y 16.13




YL—fEH -2 277 R EleEE (Bk)

A 201445 H25H EHE 5H A
Rt W=l RS 23 B4 ISR SR/ NEAEVL —BE RS 14220114 FEREE kIR R
FAEFE4 e R S EETRE RS 223030 [fad=
il A sz_/; M| ERE g@iﬁﬁi@ BEEE A L (VEAE) AR | PSR VEAE) <A | PSS (VEME) <A | BHE A4 (VEAE) AR Rt
2 U e b — WA 3 (04) -4 HIH R (04) -4 F B (04) -4 FN BRA(04) -4 1:02.25
25 2 \egmpe Loc i Yo (04) -4 & 2D (04) -4 HiEp K8 (04) -4 B F(04) -4 1:02.51
HALL—A L e . = . I .
25 e 1 3 lwmrs7A WH 2857 (04) -4 il FEA (04) -4 i)l BT (04) -4 FE BAEE (04) -4 1:03.06
25 4 e e s— M50 & (04) -4 PRI (04) -4 SEH HRAH04) -4 B Ik (04) -4 1:06.72
VERS 25 TTR DNF
Ax100mR 2 U mrspk oA A EHON4 ITH LZFEOD4 [ 004 | B0 4 1:01.25
25 2 |a)iac Bk R (04) -4 i, P+ (04) -4 e 224 (04) 4 PIHEF KA (04) -4 1:03.05
AL—2R — - - ,
5 |70 2 | 3 lmmmron KON -4 WE 004 (I HEROD 4 |k B0 -4 1:03.43
2 b mERE e — H 2 (04) -4 ER FEI(04) -4 I HRE2(04) -4 %R SeAE(04) -4 1:05.04
25 5 |ismsooB HRT EAE (04) -4 kR HExFE04)-4 B HK04) -4 AR 5 (04) -4 1:07.14
25 L g Lo )N 75 (03) 5 fit 372 (03) -5 HeAZ EHR(03) -5 S EEME(03) 5 58.68
25 | mqaL—2 | 2 s - oC +77 3% (03) -5 AL ME (03) -5 AR K (03) -5 W HOFIRE(03) -5 1:01.15
25 RS 3 |iass7a Wil B (03) -5 AR 5 (03) -5 A %14 (03) -5 I #£#(03) -5 1:01.29
25 4 e ACE /N RIL(03) -5 HITT 2H566 (03) -5 R S—E1(03) 5 | SRR (03) -5 1:01.38
VELAN
ffo’g“;’R 25 U g - & &nfm(03) -5 RS SR H (03) -5 Zot ¥R.(03) -5 A BEERR (03) -5 58.70
25 2 | mmpe b — R (03) <5 #FIH 2%°(03) -5 ) MK (03) -5 BEIT M (03) -5 59.51
Al/‘—‘x B \ Y A (N v .
2 M&% 2 5 |mpshe be— L 35(03) -5 AR % (03) -5 RIR 4534 (03) -5 ikt A (03) +5 1:02.71
25 4 s 5oR ARt #E#(03) -5 2 AA03)-5 BF M (03) -5 e (03) -5 1:20.89
25 e R (03) -5 /NEE # I (03) -5 Frlia #3E(03) -5 JAXT AR (03) 5 DSQ

EIJACA




YL—fEH -2 277 R EleEE (Bk)

e 20144E5H 25 EHE 5H A
BEt A4 Wgmhe B e 23 B4 BB =G NEAEIL—FE RS 14220114 FUERTEAT KR R
T R4 =g e B BSa BT LB 223030 FlEkE
fii A A V[z_/; | MERE ﬁfﬁf‘f WEHEE AL VR | SR A2 VEMR) F | BB A3 VEF) | BHEE R4 VEE) ek
25 U i foa fBA i (02) -6 FE 2k (02) -6 /NI BE(02) -6 Ik KA (02) -6 53.85
25 2 leiac HriE F(02) 6 TR U4 (02) -6 Shb BB (02) 6 [ITH FE(02) -6 54.49
2 M@E‘;X ! SE L Varad B AL (02) -6 PN HEEL (02) -6 B e 2k (02) -6 WUR S5 (02) -6 57.57
2 4 TR W A 02)-6  [IFI MEK(03)5 | KHT E(02) 6 A % (02) 6 57.90
fff&i 25 e L F3 $1(03) -5 FI3 9 (02) -6 I 1 (03) -6 A %02) -6 DSQ
25 U e e KART B (02) -6 AR %k (02) -6 A BA(02) -6 &Y% #7(02) -6 56.09
2 | afar—a| 2 |gmimpe LB i K (02) -6 ST B2 (02) -6 IR VT (02) -6 [T W (04) -4 57.36
25 | R 3 | Loc BHE ALIE02) -6 |k FUE(02)6 | S RAG2) -6 |HEF W (02) -6 ey
2 4w e— SoE ENE02) 6 |FFE OEH02)6  |H BEE(02)-6 feiE FI(02) 6 0287
25 1 U e oA PRl %75 (02) -6 i By-(02) 6 B HEF-(02) -6 P 723 (02) -6 55.81
25 1 2 |gmimpe B JEIR $43%(02) -6 i (02) -6 A& H3F(02)-6 T ZARE (02) -6 58.60
25 &42%%7\ 1 3 \ismo57A HR R (02) -6 Hijs £02(02) -6 A #5795 (02) -6 TN Th%(02) <6 1:00.47
2 VY seeoos BTENE ZEAL(03)5  NER 9(02)+6 | KEE BREL(03)5  |[SEE BYEE(03) 5 1:07.11
64 47 2 L 5 | b o— I 122 (04) -4 /NS FEEF (04) 4 S P (04) -4 SR A (03) 5 1:07.41
e | 2 210 s ke B EK02-6  HF ER(02-6 WA FEEOD6  |Hik &E02 -6 50.50
25 2 P T e i)l #k-(02) -6 gk HZx(02)-6 | HUMERK AFE(02)-6 Bl ZZ2A(02)-6 1:00.19
55 |7 Ton 2 |3 lmiac JHE K035 [ b6 M SUEOD4 |k HR02) 6 1:03.43
25 2 4 e e — B B5EE(03) -5 PEEF U (02) -6 IR B3R (03) -5 L OV (02) +6 1:03.53
25 2 Falis 4 (03) -5 /INE 5(03) -5 R Hif4(03) -5 /e #(03) -5 DNF

Al 77C




J4—)VFRE R - 2R - 2778 iREE (BLk)

mH 201445 1 25 THE Sk B
BEbA  dCiThE R 23 BHR S 15[ =N L — AR 14220114 LA AIE FEh
Y SR B b LR 223030 R

w a0 | mmes e | TR e | mmeecen | TRORE D e [ W mmencen | BRORE D (M smescer | TR g
YT o5 | s | 1 1| —f FHK(04) B L4 343 L0 2 [T FH(04) #)1AC -4 3.29 +0.3) 3 | K 55 (04) B 4 3.20 0.9)| 4 |BEMH KR4 (04) B E e 3.27 (-0.9)
gk 5 K E %k 04) e a1 OO
5;;; 25) Up | 1| 1| R BB03) | o 1.10
5;%%&; 25| Vg | 1| 1| A BERERR (03) B F 5 3.65 +0.D| 2 |BEF A7 (03) EELE |7 +5 35105 3 |Z&R)I faik (03) R -5 3.38 0.1 4 |HLAS BeHk(03) B -5 3.36 (-0.1)
6;;%? 25) Vel | L[ 1 pLAS B (02) 0 e 1.30) 2 |57 H REA02) |y s | g 1.30[ 3 el FV(02) | e 0 L25] 4 VG BB (02) gy e g 1.25
6477 o5 | s | 1 1A Fngk(02) B E 6 4.26 12| 2 |AHE 4R (02) IR e 6 4.03 0.2 3 | B HliFE(02) ST 6 3.99 (+0.3)] 4 [RER MHE(02) 1AC-6 3.98 (+0.6)
B 5| BEO) |y e 295009 6 KB GHROD |y o (36800 T [EF 0D |y o (309000
5;%; 25| el | L[ 1 | SOHO3) |, L e O P—— 1.15
S;Eﬁrhgﬁfg‘ 25 YR 1] 1 [ HEIL BESE(03) R E 25 3.50 0.2] 2 [/ E2(03) T 5 3.49 +1.3)| 3 |FKIR &5(03) R 75 3.42 (0.0)
6%%; 25| Ry | L[ 1\ SIRE(02) |y e |0 L30) 2 BRI Z25(02) |y ere | .6 125 3 |0 AR (02) | wyiepe | . 120 4 Rl BR(02) |y ere | g 1.15
6§¢§£ 25 W 1] 1 B E£A02) R F -6 3.59 (+0.2)] 2 |[IAA #P3EE (02) T 6 358 (-0.2)] 3 |FTHEF JHIHE(02) R F 26 3.40 (+1.2)




